
qm=;++ cfof]hgfsf] gfd
cfof]hgf 

:yn
ljlgof]lht /sd s}lkmot

         ko{^g tyf ;:s[lt

1 bGtsfnL dlGb/ u]6 ;lxtsf] 3]/fj]/f j8f g+= # 200,000

2 dxtf] ;dfh sNof0f kl/ifb 3]/fj]/f j8f g+= # 300,000

3 /fd hfgsL dlGb/ 3]/fj]/f j8f g+= # 100,000

4 ;'bfdle§f dxf/fhyfg ejg lgdf{0f j8f g+= # 100,000

5 x'Ssfuf5L tfhk'l/of 6f]nsf] dxf/fhyfg lgdf{0f j8f g+= # 100,000

6 k|sfz ;'gf/sf] 6f]nsf] dxf/fhyfg lgdf{0f j8f g+= # 50,000

                pBf]u

1 pBf]u jfl0fHo ;+3sf] ;dGjodf d]nf cfof]hgf j8f g+= # 100,000

          k"jf{wf/ ljsf;

1

x|bo 7fs'/sf] 3/ b]lv ufpkflnsf hf]8\g] ;8s 

u|fe]n j8f g+= # 500,000

2

jfO;L6f]n s[i0f lu/Lsf] 3/ x'b} lrof aufg hfg] 

af6f] j8f g+= # 50,000

3 uf}/L6f]n b]lv vqL sfdb;Dd u|fe]n j8f g+= # 500,000

4 nfnl8uL k"j{ gx/b]lv sfsL{ 8f8f;Dd u|fe]n j8f g+= # 100,000

5 ufpkflnsf b]lv x'nfs hfg] ;8s u|fe]n j8f g+= # 50,000

6

g;?l2g ldofsf] 3/af6 pQ/ dx]znfn, tf/fsfGt 

bf;sf] 3/x'b} ljb]zLofsf] 3/;Dd u|fe]n j8f g+= # 500,000

7 lbg]z kf;jfgsf] 3/b]lv 3f6'df/L ;8s u|fe]n j8f g+= # 100,000

8 u0f]z dlGb/ b]lv pQ/ ;"o{ kf}8]nsf] 3/;Dd u|fe]n j8f g+= # 100,000

9

bGtsfnL b]lv pQ/ af}4dfu{ sdf{ nfSkf z]kf{sf] 3/ 

pQ/ sNof0f cfrfo{sf] sfdb n]vf vf]nf;Dd u|fe]n j8f g+= # 200,000

10

/fh' u8\tf}nfsf] 3/b]lv k'j{ 5'g du/sf] 3/;Dd 

u|fe]n j8f g+= # 100,000

11 uf]kfn dxtf]sf] 3/hfg] af6f] u|fe]n j8f g+= # 50,000

12

nId0f bf;sf] 3/b]lv zf]efsfGt bf;sf] 3/;Dd 

u|fe]n j8f g+= # 150,000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

3 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



qm=;++ cfof]hgfsf] gfd
cfof]hgf 

:yn
ljlgof]lht /sd s}lkmot

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

3 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

13 vfg]kfgL ;+:yfg lkraf6 klZrd ;8s u|fe]n j8f g+= # 50,000

14 x|o'd kfOk vl/b j8f g+= # 500,000

          ;fdflhs ljsf;

1 dlxnf nlIft sfo{qmd j8f g+= # 109,000

2 dlxnfx?nfO{ l;kd'ns tyf Ifdtf clej[l4 tflnd j8f g+= # 100,000

3 afnaflnsf nlIft sfo{qmd j8f g+= # 128,000

4 blnt ju{ nlIft sfo{qmd j8f g+= # 64,000

5

Ho]i7 gful/s ;Ddfg tyf cjnf]sg e|d0f -

;fem]bf/L_ j8f g+= # 64,000

6 ckfËx?nfO{ ckfËd}qL ;fdfu|L x:tfGt/0f j8f g+= # 64,000

7 dw]zL d':nLd lk58f ju{ nlIft sfo{qmd j8f g+= # 96,000

8 Ho]i7 gful/sx?sf] nflu x]Ny s]Gb| :yfkgf j8f g+= # 100,000

9

of]u tyf zf/Ll/s ;';+u7g ;fdfu|L tyf of]u s]Gb| 

:yfkgf j8f g+= # 300,000

                 ljB't lj:tf/

1 ;8s ;f]nf/ aQL !) j6f -;fe]mbf/L_ j8f g+= # 600,000

               jg tyf jftfj/0f

1 x'Ssfuf5L nf; lrtf tyf lj>fd u[x lgdf{0f j8f g+= # 200,000

2 kmf]x/ Joj:yfkg ;fdfu|L ljt/0f ;fem]bf/Ldf j8f g+= # 150,000

3 ;8s / gbL lsgf/fdf j[Iff/f]k0f j8f g+= # 25,000

                ;+:yfut ljsf;

1 hgk|ltlglw / sd{rf/LnfO{ cjnf]sg e|d0f j8f g+= # 200,000

2 j8f:t/Lo ;fj{hlgs ;'g'jfO sfo{qmd j8f g+= # 100,000

                ;fj{hlgs ;'/Iff

1 ;'/Iff Joj:yfkg -;z:q k|x/L an_ j8f g+= # 50,000

2 O{nfsf k|x/L sfof{no j8f g+= # 125,000

3 6|flkms ;r]tgf sfo{qmd 25,000

जम्मा 6,400,000


